H £ 0l & AF & S

Al A

SN DEIEXED
F: NYUSEH(US/ROILEESSUR)
o w=sJ2 N (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
W=IEEAIE 58,351,688 59,103,138 AT751,450
= 20,281,022
= 676,352
| 2,510,217
= 18,165,005
Al 16,323,119
= 395,973
NGNS (WE/FOILESSUR) 5,590,205 7,739,046 A2,148,841
& 1,388,944
Al 4,201,261
mE= Pk SUNE.| 5,584,905 7,734,246 A2,149,341
& 1,388,944
Al 4,195,961
WALl XA 2,608,067 2,966,318 A358,251
301 LPENF 80,000 60,000 20,000
(Sl S PN =) 80,000 60,000 20,000
Oede= 80,000,000& 80,000
308 AXISHMSO0IN 2,528,067 2,906,318 A378,251
07 MHXESH2tRE 2 4,000 82,248 AT78,248
OOtES3IIsAF 2g|
1,000,000 *4H 4,000
08 WFI|Z0HeE = 2,394,000 2,698,210 A304,210
Ou=3d| XA 1,800,000,000& 1,800,000
Ot MsAE 22 AtE
594,000,000 594,000
10Al- 27 WREISEIH HENEZ 130,067 125,860 4,207
OLn RANEH 2Y3
130,067,000& 130,067
wJ|& XZl 8,950 5,230 3,720
201 LB-2AY| 7,650 3,730 3,920
01 AtR2telt] 7,650 3,730 3,920
OuUEZHIEEZ MRS AAsY
150,000 *4 H *33| 1,800
OU=EXEANE FHE 28 222 M Y
=257 2,700,000& 2,700
OEHES| MAIY
150,000 *4 H x33| 1,800
OstunaA XS A2 MAY
150,000 & »9H 1,350
202 O4H| 1,300 1,500 A200
01 =ZLHOdH] 1,300 1,500 A200
OWEXEA =& =AY
900,000& 900
Ostugal HRFA I
400,000 400




2A:

M NQ9NSEH(UR/ROLZSSUK)
ol wsI2 X3 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
& Clotdl Ol MZ24H X 50,000 50,000
201 er23 | 50,000 50,000
03 ALY 50,000 50,000
ONREEH A2AT 2
14,000,000 14,000
Oodz - Mgt HEE 2Y 16,000,000 16,000
Ostuz 0Pl dZHE nd 29
20,000,000 20,000
CIXE el 24 X2 60,000 60,000
201 er23| 60,000 60,000
03 ALY 60,000 60,000
OO0l TtAMd TEg g& Jtiiet
20,000,000& 20,000
ORLots M=ot ad, Lo X206t
! 20,000,000 20,000
ORYHBRDR 2 DA/ARE Fot
A 20,000,000 20,000
EXMULS WS P2AIS 60,000 150,000 290,000
301 EtE N = 30,000 0 30,000
11 #AIAMHIXIE S 30,000 0 30,000
OJN=D eHsls Yauo
80,0003 x25E 153 30,000
308 AtXIEHMSOIE 30,000 150,000 120,000
08 WIJ|20tetEE 30,000 60,000 230,000
OXS WitM JHe & I ZE 2=
30,000,000 30,000
NI A 20,000 30,000 10,000
201 er23 | 20,000 30,000 10,000
03 AL SHI 20,000 30,000 10,000
OUE Al Hef &E3 20,000,000& 20,000
detd fazits stugal A3 355,108 350,648 4,460
=S 177,554
Al 177,554
308 AFXIEMSOIE 365,108 350,648 4,460
== 177,554
Al 177,554
08 wW=J| 202X 365,108 350,648 4,460
Ozletd st stugs Ad
355,108,000 365,108
= 177,554
Al 177,554
Zlgtd stugal A 2,422,780 3,536,190 21,118,410
= 1,211,390
Al 1,211,390




A SIS0

Hz: XN (WS/FOILEESIK)

SE R SR

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
308 XXM SOIH 2,422,780 3,536,190 A1,113,410
= 1,211,390
Al 1,211,390
08 DI ZOICHEHE X 0422780 3,536,190 1,113,410
OB sWIA N
2,422,780,000& 2,422,780
=S 1,211,390
Al 1,211,390
ANE F2AIH 2R 5,300 4,800 500
ANE FAM 2F2(3S) 2,500 1,000 1,500
203 gF=4| 2,500 1,000 1,500
03 A=A =] 2,500 1,000 1,500
OAEAY FR=T(SS)
2,500,000& 2,500
NE =AM RFT(RA) 1,000 2,000 21,000
203 HR=4Y] 1,000 2,000 21,000
03 A=A PR FA| 1,000 2,000 A1,000
ONEAIR QDER(2A)
1,000,000& 1,000
SRR (0tSE tHE) 1,800 1,800 0
204 MPo=eAH| 1,800 1,800
2 SELR3H 1,800 1,800
OOISSIS SHS+HB Y|
50,0002 x3&* 122 1,800
g;"‘q ABIE0] U2 SENL(ARISR/ESR - IIEERN 6,418,860 5,797,238 621,622
= 1,421,974
[ 219,534
Jl 2,164,783
[ 731,078
Al 1,843,375
= 38,116
I ARIXIOH O Qlerat 4,077,022 3,313,5% 763,426
= 1,421,974
Jl 877,582
< 422,483
Al 1,316,867
= 38,116
JHEESH doiEeld K& 8,450 8,450 0
307 @20l & 8,450 8,450
1 AMISXAIEEXE 8,450 8,450
OJtE=e yatzceld N3
8,450,000& 8,450
JHEZE Lok ESA4 28 K& 238,126 219,304 18,822




A WFIEXF L

B 0140 ABIEOl 2OIY SAML(MS=T/PS - ISL0IL)
Rl elF AT Ole elderat (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
J| 159,223
= 34,119
Al 34,119
= 10,665
307 21Z2H0| ™ 238,126 219,304 18,822
J| 159,223
= 34,119
Al 34,119
= 10,665

ES 238,126 219,304 18,822

5l
OJHE =S Lokt EsAI2 28 A&

227,461,002 227,461
| 169,223
= 34,119
Al 3,119
OJIHES TGN 2EAE 2 K Arel(
REA) 10,665, 0002 10,665
= 10,665
=S K 25AE 29 NF0IS2EY) 14,000 1,100 2,900
| 7,000
= 3,500
Al 3,500
402 BIRIXHZOIH 14,000 11,100 2,900
| 7,000
= 3,500
Al 3,500
02 SI2LXHE A B E (OIHTHE) 14,000 11,100 2,900
OJIHES WK 25AE 29 NAOIS
2) 14,000, 0002 14,000
| 7,000
= 3,500
Al 3,500
IIEES WK 25AE 2 K (4] 25,600 165,534 10,066
o] 13,600
= 12,000
301 YrEEI 25,600 15,53 10,066
| 13,600
x 12,000
N EEEERPEEIER EESTE)) 13,600 16,534 A1,934
OI™E WK EBAL b= Al
13,600, 0002 13,600
g 13,600
2 A2 HRAFIZ(FAAS, NLWE) 2,000 0 12,000
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RZH

WIS 0

O4’\*°| ABIEO et SR (ARISX/ES - JIEY

el QI AL Old ol g (S AR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJtE=E2 Mot BoAE 29 N A
A (KHAI) 12,000,000 12,000
= 12,000
HE =S TohAt 2ESAlE 29 X (Hdaddl) 1,463 3,252 A1,789
Il 1,024
== 219
Al 220
307 212+01& 1,463 3,252 A1,789
Jl 1,024
S 219
Al 220
11 AMISXAIEEX 1,463 3,252 A1,789
OJIEEZS TGHA ESAIE 28 X (2Y
Sgtl) 1,463,000 1,463
7l 1,024
= 219
Al 220
JHEEES Lokt 2S5 AE B4 Al AHEXES K& 15,000 10,000 5,000
Jl 15,000
307 elzto| & 15,000 10,000 5,000
) 15,000
11 AMEISXAEEES 15,000 10,000 5,000
OJMEZEY T ESAIE &l Al XA
=3 X2 15,000,000& 15,000
Jl 15,000
JHEES Hohkt Xzss 208 2 2/sH| X 14,169 28,900 14,731
Jl 9,919
=S 2,125
Al 2,125
307 21201 & 14,169 28,900 A14,731
Jl 9,919
= 2,125
Al 2,125
11 AMEISXAEEXS 14,169 28,900 14,731
OJtd == Uit 2l=8| K&
2,000,000& 2,000
Jl 1,400
= 300
Al 300
OJIE =4 Uit Azels 2208 X3
12,169,000& 12,169
7l 8,519
= 1,825
Al 1,825




2A:

WIS 0

A 82 ARIEO 202 SENL(ARISX/ES - IEEL
Rl elF AT Ole elderat (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
IR EZEAEA 2SRA 154,366 172,792 A18,426
Il 73,355
== 36,678
Al 36,677
= 7,656
307 gl2to| & 154,366 172,792 18,426
Il 73,355
= 36,678
Al 36,677
= 7,6%
10 Al SXAZEHE2EHI 2 X 154,366 172,792 A18,426
o= 2ETY
146,710,000 146,710
Il 73,355
== 36,678
Al 36,677
Ol EESAMEA 12| (2EAY) XA (X
H) 7,656,000 7,656
= 7,6%
B4 29 737,266 510,060 227,206
Il 368,633
=S 73,727
Al 294,906
307 21201 & 737,266 510,060 227,206
Il 368,633
= 73,727
Al 294,906
10 MEISXAEHE2EHIE2X 484,300 504,120 19,820
OIIEHEH SEAHIA 28
439,400,000& 439,400
Jl 219,700
= 43,940
Al 175,760
Olzshts 43324 24
44,900,000 44,900
Il 22,450
= 4,490
Al 17,960
11 ARRIS XA E X 252,966 5,940 247,026
Oot2atE THAXIE 147,626,000 147,626
Il 73,813
= 14,763
Al 59,080
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WIS 0

A 89 ARIE0 22t SENL(ARISXI/ES - IEEL0E
Rl elF AT Ole elderat (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O3t 7 SEXE
105,340,000 105,340
Jl 52,670
[ 10,534
Al 42,136
ZE012L & HEE ALY 4,000 3,585 415
= 800
Al 3,200
307 el2to| & 4,000 3,585 415
= 800
Al 3,200
11 AMISXAIEEX 4,000 3,585 415
OZE0IR 45 UEY A
800,000 *5H 4,000
& 800
Al 3,200
SS=0LIsH 29 113,424 110,388 3,036
Jl 56,712
< 30,698
Al 17,014
307 elztol & 113,424 110,388 3,036
J| 56,712
=S 39,698
Al 17,014
11 ARRIS XA E X 113,424 110,388 3,036
Oss=s0iLisH 24
56,712,000 201 2 113,424
J| 56,712
=S 39,698
Al 17,014
CHEst OISXIR S8 ud 20,000 20,000 0
< 4,000
Al 16,000
307 elztol & 20,000 20,000 0
= 4,000
Al 16,000
1 AMEISXAEEES 20,000 20,000 0
OU=2zt OFsXl= S8 ua
20,000,000 20,000
= 4,000
Al 16,000
CI23t SEStAYE (S§) 155,143 147,401 7,742
Jl 77,571
= 15,515




HEES 9] =N F= I

DAY MEIEN B SSIHL (AL
DO ARXICH (A elAErA

-

SN/ES - HEY

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 62,057
307 gl2tol & 185,143 147,401 7,742
Il 77,571
= 15,515
Al 62,057
11 AMEISXAIEEXS 155,143 147,401 7,742
OLh23 St (SE) 155, 143
0 ZE0[I2A S22t
20,000,000& 20,000
Jl 10,000
= 2,000
Al 8,000
0 ZE0[2A SHAAMHIA X
34,100,000& 34,100
7l 17,050
= 3,410
Al 13,640
oLh23tE tHatoeg X
40,590,000 40,590
7l 20,295
= 4,059
Al 16,236
ONHAYSE U KHAME S Y2DSAYIA
A& 60,453,000 60,453
Jl 30,226
=S 6,046
Al 24,181
thEebls X3 73,200 84,012 /10,812
201 Ler23 | 840 840 0
01 At2t2ltl 840 840 0
ei=elx8l & OE3tE NEgs &
S=g 70,0002 x62H+23] 840
307 el2to| & 72,360 83,172 A10,812
11 AMEISXAIEEXS 72,360 72,672 A312
OZE012k 28 FHSAA
610,000 +8< 4,880
otz IH#Hs HSsE20d 28X
15,000,000 15,000
Ooti2=hts Z=gz &
22,000,000& 22,000
Ot2=htE 4 et=2stsikl A&
10,800,000 10,800
OtEats NGz #=Kd
19,680,000 19,680
Ch2abls 2SN EAL HRIMA 3,684 3,684 0
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WIS 0

B 0140 ABIEOl BOIY SANL(MEIZX/BS - IHEL0IL
Chelr 1A ARIKIOH (e elHerat EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
= 737
Al 2,947
307 212+01 A 3,684 3,684 0
& 737
Al 2,947
10 Al =S XA EBEER2IHIE X 3,684 3,684 0
OUIEINE Y2uESK AL HRHH
1,228,000 *3%H 3,684
T 737
Al 2,947
CH22tEA gt=2us K2 6,840 7,310 A470
= 1,368
Al 5,472
307 212+01 A 6,840 7,310 A470
& 1,368
Al 5,472
11 AR SXAMEES 6,840 7,310 AN4T0
OCrZeot=ERt st=2us K&
456,000 15% 6,840
T 1,368
Al 5,472
ARISXAIE SALA =X K& 65,160 69,000 A3,840
= 13,032
Al 52,128
307 212+01 A 65,160 69,000 A3,840
& 13,032
Al 52,128
10 Al S XA EEHE2IHIE X 65,160 69,000 A3,840
OAM2I=XAIE MR =X+ XI&
65, 160,000& 65,160
& 13,032
Al 52,128
A=Y - ZFijed=s AL 2GR 193,725 182,342 11,383
| 9,965
& 46,482
Al 46,483
= 7,79
307 212+01 A 193,725 182,342 11,383
| 2,965
= 46,482
Al 46,483
= 7,795
10 Al S XA EEE2IHIE X 193,725 182,342 11,383
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WIS 0

A 89 ARIE0 22t SENL(ARISXI/ES - IEEL0E
Rl elF AT Ole elderat (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O4= U LEALSL S
185,930,000& 185,930
Jl 92,965
< 46,482
Al 46,483
OMZet - FHOJQILZ2AE A 0I21H|(SE
&) X (XA) 7,795,000& 7,795
= 7,79%
SZS okt 2=, 2tEH] XI& 3,686 5,000 1,314
Jl 2,580
S 553
Al 553
307 212+01& 3,686 5,000 1,314
Jl 2,580
=S 553
Al 553
11 ARRIS XA E X 3,686 5,000 1,314
O&=2 MaHN 24|, 21H] X
3,686,000& 3,686
7l 2,580
= 553
Al 553
AIAH RIS & D18 -A ZOH 1,900 1,900 0
< 380
Al 1,520
307 lztol & 1,900 1,900 0
= 380
Al 1,520
1 AMEISXAEEXS 1,900 1,900 0
ONIAIIS] & JIE-AL EOtHI
47,5002 x40 1,900
= 380
Al 1,520
Ols - 344 230 s 8,064 8,064 0
307 212+01& 8,064 8,064
11 AMRISXAEEES 8,064 8,064
O0ts - #44d UXE 882 gux(8%
Hagd) 8,064,000 8,064
OIStz S R2le stE ALNE 13,800 13,800
307 elztol & 13,800 13,800
04 CIZHHAMAMH 2 & 13,800 13,800
O0tEtz S8 L= ets ARSI
13,800,000 13,800
ORI\ 2,031,391 1,482,447 548,944
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WIS 0

A 89 ARIE0 22t SENL(ARISXI/ES - IEEL0E
s ol ARKIN e ol ety (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 1,421,974
=S 121,883
Al 487,534
301 22N = 1,200,000 800,000 400,000
= 840,000
= 72,000
Al 288,000
01 Al EE AT S (2 RDEXA) 1,200,000 800,000 400,000
O0l0ISE A~ ZEXa2
1,200,000,000& 1,200,000
= 840,000
= 72,000
Al 288,000
307 @120l & 831,391 682,447 148,944
= 581,974
= 49,883
Al 199,534
11 ARRIS XA 2 X 831,391 682,447 148,944
OoolEs MHIA 2 K&
831,391,000& 831,391
= 581,974
= 49,883
Al 199,534
HEAASTAIE SAL XML 73,520 71,057 2,463
=S 14,704
Al 58,816
307 21201 & 73,520 71,057 2,463
< 14,704
Al 58,816
10 Al SXAEEHE2EHI2x 73,520 71,057 2,463
OUEAASTAIL BAX MM (4THE
g Y E=2) 73,520,000 73,520
= 14,704
Al 58,816
HEZASTANEOIEZ2aEA) 2SN 32,865 0 32,865
=S 6,573
Al 26,292
307 @I2t01 & 32,865 0 32,865
== 6.573
Al 26,292
10 Al SXAIZEHE 22X 32,865 0 32,865
OUEAASTANL Ot ZHAaEA) 2K
& 32,865,000 32,865
= 6,573
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SN DEIIEXADL
A 89 ARIEN 22t SENL(ARISXI/ES - IEEL0E
Rl oldel AEN Y g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 119,449
Al 250,962
ZEU2=RE 7= X2 11,040 10,980 60
= 2,208
Al 8,832
201 Let=23 | 11,040 10,980 60
= 2,208
Al 8,832
01 AtR2t2|HI 11,040 10,980 60
OZaU2t=Re 2 25 K&
11,040,000& 11,040
== 2,208
Al 8,832
JEHENY 2HES K2 AL 130,060 243,600 A113,540
= 82,810
Al 47,250
307 elzto| & 130,060 0 130,060
= 82,810
Al 47,250
11 AMEISXAIEEXS 130,060 0 130,060
OUMTREE TR A
130,060,000& 130,060
== 82,810
Al 47,250
OIS0l MM 22,680 22,680 0
= 4,536
Al 18,144
307 elzto| & 22,680 22,680 0
= 4,536
Al 18,144
10 Al SAAEEHE 22X 22,680 22,680 0
OO0I0I=E20I M2 22,680,000 22,680
= 4,536
Al 18,144
2P ST2 JIGA 15,000 12,000 3,000
307 212+01& 15,000 12,000 3,000
04 QIZHHAIAIH E X 15,000 12,000 3,000
O%x d8EsU= 15,000,000 15,000
HEMZob|dE 28 X 317,708 429,784 A112,076
= 219,534
[ 19,635
Al 78,539
307 lztol & 317,708 329,784 A12,076




A WIIIEXE 0
BB 0140 ASIEOl BOIY SANL(MEIZX/2S - IHEL0IL
Chel: Oldo] AEA ol A (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 219,534
=S 19,635
Al 78,539
11 AMISXAIEEX 317,708 329,784 A12,076
OMZ-elE 3,800,000& 12 45,600
[ 36,480
= 1,824
Al 7,2%
OIS MZLBIIMIEl 2]
178,108,000 178,108
= 89,04
= 17,811
Al 71,243
OXgedusoz ) 94,000,000 94,000
[ 94,000
HEMZLBIIME SAHL M2 20,520 19,800 720
== 10,260
Al 10,260
307 212+01& 20,520 19,800 720
[ 10,260
Al 10,260
10 AlRISTIAIEEE 22X 20,520 19,800 720
OWEMZLBIIHE AL MM
20,520,000 20,520
= 10,260
Al 10,260
ool AR 2 55,393 50,742 4,651
201 fer= 3| 600 600
01 AtR2tc|HI 600 600
OWgEHIR=A ALR 22| 600,000 600
202 04| 1,500 2,000 A500
01 =LHO LI 1,500 2,000 A500
O=UBI(HE T =) 1,500,000 1,500
301 LEtE NS 3,950 3,950
11 dALEEIXIE S 3,950 3,950
OaAIEY 2 S0I—AL EOt
50,0008 %15 750
OggEsHs FIHE=,23) 1,800
o ZHBSUE &It HHIE&(H=)
60,0008 »15% 900
o YHESHE FII OiHIZ2aH(ZR)
60,0003 *15& 900
OWdHNY EE3 & 2tE=al &4
100, 0002 2 x32] 600
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SN DEIIEXADL
A 89 ARIEN 22t SENL(ARISXI/ES - IEEL0E
Rl oldel AEN Y g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OR0PI= dHES us BA= 1,656
o ZA=E(22) 150,000& %102 1,500
o¥IE 78,0002 %23 156
U2 A TIchA JIge & 4,320 4,320 0
307 212+01& 4,320 4,320
04 QIZHHAIAIRH E X 4,320 4,320
OYL=2 9ok LK JIlel & J|FAl
4,320,000 4,320
Has 2RIIHE SXAMHIA 1,751,893 1,676,377 75,516
Jl 1,287,201
[ 189,146
Al 275,546
CIAHAOHE SEXI2 14,000 7,000 7,000
= 2,800
Al 11,200
301 EtE NS 14,000 7,000 7,000
= 2,800
Al 11,200
02 ANRI2HALFS(HAAS, XNLHE) 14,000 7,000 7,000
OUXAIE UstsE= A&
1,000,0002 * 14 14,000
== 2,800
Al 11,200
NS stR20HE d2otd X 125,500 116,850 8,650
< 25,100
Al 100,400
301 LEtE NS 125,500 116,850 8,650
= 25,100
Al 100,400
02 A2 XSG (FHAAHS, NSWE) 125,500 116,850 8,650
ONAS e22IHE wad| X2
350,000& #2440t 85,400
s 17,080
Al 68,320
OMaS etR20td Mgy tstysts Al
& 1,700,000& +22& 37,400
= 7,480
Al 29,920
OMAS StREIHE =5td SiaXEb]
A& 100,000 +27& 2,700
s 540
Al 2,160
FAEER2 OtS2=Hl A AL 9,000 4,800 4,200
Jl 4,500




A WIIIEXE 0
A 89 ARIEN 22t SENL(ARISXI/ES - IEEL0E
=Rl HNAS 2RI0HE SXIAHIA EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 900
Al 3,600
301 EtE NS 9,000 4,800 4,200
Jl 4,500
== 900
Al 3,600
01 AR 2EHSHS(RNEXRTH) 9,000 4,800 4,200
OHAESD OISYSY X2 Al
9,000,000& 9,000
Il 4,500
== 900
Al 3,600
FAERE EXE 1,943 17,910 15,967
Il 1,555
== 194
Al 194
301 22N = 1,943 17,910 15,967
Jl 1,555
= 194
Al 194
01 Al EE A S (FRNEXA) 1,943 17,910 15,967
OFExHEeR2 THEXS 1,943,000& 1,943
Il 1,555
= 194
Al 194
SHRZIIENE 2FHl S Az 1,601,450 1,529,817 71,633
Il 1,281,146
= 160, 152
Al 160,152
301 LEtE N = 1,601,450 1,629,817 71,633
Jl 1,281,146
== 160, 152
Al 160, 152
01 AR E2EHSFS(RRNEERTHE) 1,601,450 1,629,817 71,633
OstRRIIEE Ol 2=t|
1,601,450,000& 1,601,450
) 1,281,146
< 160,152
Al 160, 152
gﬁ)of% FAad =X oZet IF(MASH/ES - IHEL 26,856,572 24,378,843 2,477,729
= 13,984,710
== 9,026,559
Al 3,824,063




2A:

PSR 1

D%
M 22 0t FAE X 2Zet AF(MIIEXN/ES - =Y
o°He: BEF JIE &4 (SH &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 21,240
25 JIE =4 26,856,572 24,378,843 2,477,729
= 13,984,710
= 9,026,559
Al 3,824,063
= 21,240
zes+g NS 202,800 358,548 A185,748
= 162,100
=S 35,490
Al 15,210
301 22N = 202,800 358,548 A 185,748
= 152,100
= 35,490
Al 16,210
01 Al EE A S (2 RDEEMA) 202,800 358,548 A185,748
Ogegsg XA
202,800,000 202,800
= 152,100
= 35,490
Al 16,210
B30I SSHI(HEAIY) 194,100 241,669 N7 ,569
== 170,808
Al 23,292
307 212t01& 194,100 241,669 N7 ,569
[ 170,808
Al 23,292
10 Al SXAEEHE 22X 194,100 241,669 ANAT,569
O33g0&o0d X 194,100,000 194,100
= 170,808
Al 23,292
FeltdE 258 X 4,179,773 4,412,590 N232,817
= 4,179,773
301 EtE NS 4,179,773 4,412,590 N232,817
= 4,179,773
02 AR SEHS(FIANS, XLETHE) 4,179,773 4,412,590 A232,817
O=cltd 288 XN
4,179,773,000& 4,179,773
[ 4,179,773
PR 24| Xz 5,934,799 5,364,601 570,198
= 3,560,879
= 1,661,743
Al 2,
307 el2to| & 5,934,799 5,364,601 570,198




SAM: NERIISXIJ
MM HE Ols HAaUd 21 2Tt E(AIEEX/ES - IISLHA)
e SEF JIE =4 (EEEE))

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,560,879
=S 1,661,743
Al 2
10 Al SXAEEE 22X 5,934,799 5,364,601 570,198
O=ZEEel0oz0lE a/28] X
5,495,527,000& 5,495,527
= 3,297,316
= 1,538,747
Al 659,464
OSIEE WA 2124H] K&
125,950,000 125,950
= 75,570
=S 35,266
Al 15,114
OZOotEENHE0IE 2ld] X
313,322,000 313,322
= 187,993
== 87,730
Al 37,599
SRR MM K& 631,812 656,360 A24,548
= 379,087
s 176,907
Al 75,818
301 EtE NS 631,812 656,360 N\24,548
= 379,087
= 176,907
Al 75,818
01 Al EE A S(FRNEXA) 631,812 656,360 N\24,548
OELUANAEES MDA XIS
631,812,000 631,812
= 379,087
= 176,907
Al 75,818
222 FR2RE=s N 291,808 346,680 N\B4,872
== 87,542
Al 204,266
301 22N = 291,808 346,680 NBA,872
< 87,542
Al 204,266
02 MBI 2HHSFHS(HAANS, XLHE) 291,808 346,680 NB4,872
OEsz 2ezea X
291,808,000& 291,808
= 87,542
Al 204,266




M WIS
M 98 0ls HAW =X T AR(ANS=X/PS - HEL0A)
el SES JIE &4 (SH &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
S=HIEXE =i 1,005,462 601,149 454,313
301 LtENZ 889,200 399,000 490,200
02 MBI 2HHSFHS(HAAS, XLHE) 889,200 399,000 490,200
WA RER) HLHLHl K& 241,800
0 JIEFSALAL etM e X S uAL &
d=g 50,0003 400 « 122 240,000
0 EBMFI BWA =H
600,000 & *x3H 1,800
ON&ots SA XIH
5,000&%2,500F « 122 150,000
OZR0IKNZ00IE SUAL 35T
g(@2ssg S) N
4,400,000~ 122 52,800
OSsggsdl X
30,0002 1,482+ 102 444,600
307 212t01™ 112,262 142,149 N29,887
04 QIZHHAIAIH B & 20,600 0 20,600
O==xAl 2003 X 5,600,000 5,600
O0elold E=s0ts s0I80te
15,000,000 15,000
10 Al SXAIZEHE2EHI2X 81,39 105,386 A23,987
O0RIHE O2l0ld Xel& el
450,000& *51 A+ 123 27,000
OO0l JIEIS AR CHAMIR!IE e14H|
9,860 +6A| 2t 169! 9,99
OO0lZ0IE E0F0F SS AL CHHIE el
pals] 1,000,0002 4 H+3& 12,000
ol xIolrE X
120,0003 x450 263 32,400
11 ARIZXAIE 2 X 10,263 36,763 N\26,500
OZ&0ieloly stotstial HIF & 2 &A
FuU=s ,163,000& 2,163
Oooglold g4 X2
20,0002 #450H 2+6E 5,400
OO0l =22 & E|NHA WS
2,700,000 2,700
402 SIZERHE0| M 54,000 60,000 26,000
01 QI 2 AL E (XM TR ) 54,000 60,000 26,000
OOGIgl0lE Al atBIH&l]
2,700,000 +200H 2~ 54,000
SHIAMHIA LEt 9,450 8,140 1,310
201 2= 6,850 5,140 1,710
01 AtS2t2ltl 6,850 4,940 1,910
OZE=2Z3 AIF&ct] 1,000,000& 1,000
OESHMARYS 39 =&
150,000 *13H +32 5,850




A WIIIEXE 0
ZH: B2 05 FAE =T QT2 PE(NISX/ES - HEL0IE)
el SES JIE &4 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 2,600 3,000 A400
01 2LHoIH 2,600 3,000 2400
O=UobI(H&olE =&Y S)
1,300,000 1,300
OBIIRISAIE S22 X&E 1,300,000& 1,300
S, HMLA XIEAFS 1,658,737 1,579,619 79,118
= 995,242
= 464,445
Al 199,080
101 21A4H| 57,858 65,986 N8,128
= 34,715
= 16,200
Al 6,943
MU IIRINZZENSES 57,858 65,986 N8,128
OJIRAN=Z2TsE+ 57,858
oJlZ2=s 2,060,740 «3& +82 49,458
= 29,675
= 13,848
Al 5,935
0 W SH| 100,000 3 +8& 2,400
= 1,440
= 672
Al 288
o4HEE R E= 250,000 x3H+8Z 6,000
= 3,600
= 1,680
Al 720
307 gl2to| & 1,600,879 1,613,633 87,246
= 960,527
= 448,245
Al 192,107
10 Al SXAAEEHE2EHI2x 1,600,879 1,513,633 87,246
OUR A XI&(HE0lE HEMHES)
18,827,000& 18,827
= 11,296
= 5,271
Al 2,260
OEZWAHHAEES MEWAH XIS
1,582,052,000& 1,582,062
= 949,231
= 442,974
Al 189,847
2250 ANZA 5,914,767 3,374,592 2,540,175
= 4,436,075




SAM: NERIISXIJ
MM HE Ols HAaUd 21 2Tt E(AIEEX/ES - IISLHA)
e SEF JIE =4 (EEEE))

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,035,084
Al 443,608
301 EtE NS 5,914,767 3,374,592 2,540,175
= 4,436,075
== 1,035,084
Al 443,608
01 AR 2EHSHS(RNEXRTH) 5,914,767 3,374,592 2,540,175
ORZ230 XA 5,914,767,000& 5,914,767
= 4,436,075
=S 1,035,084
Al 443,608
Oi2l0ld WA XMIHA X 347,200 395,000 247,800
< 69,440
Al 277,760
301 EtE NS 347,200 395,000 247,800
= 69,440
Al 277,760
02 ARSI 2 XSG (FHAAHS, NSWE) 347,200 395,000 A\47,800
OOZ0IE ESnEe B4 X2
100, 0002 *560H <22 112,000
=S 22,400
Al 89,600
OYolet BRWA SEag N
40,0003 x200H * 123 96,000
= 19,200
Al 76,800
OZR0IXE Oel0lE EFWAF X <IHAHI
A& 100,000 1162+ 12 139,200
=S 27,840
Al 111,360
OEloly JIs22(020l8 &3)(83Hd Xg) 20,000 30,000 10,000
= 10,000
= 5,000
Al 5,000
402 2I2FXH=201 & 20,000 30,000 10,000
= 10,000
= 5,000
Al 5,000
02 QI X2 AL E R (01X THE) 20,000 30,000 10,000
Oct20iel01d JIsEd 20,000,000 20,000
= 10,000
= 5,000
Al 5,000

olgloly 22X Xl XA 290,400 343,200 /52,800




A WIIIEXE 0
M 2] 0ts A4 SX gt AR(ASSX/ES - IEELE
el SES JIE &4 (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 58,080
Al 232,320
307 lztol & 290,400 343,200 /52,800
= 58,080
Al 232,320
10 Al SXAAEEHE2EHI2x 290,400 343,200 /52,800
O0gloly 2xe1e dXtel X
550,000 #4401 A+ 122 290,400
=S 58,080
Al 232,320
Oelold HESH SOt KA 33,056 11,549 21,507
< 2,363
Al 9,453
= 21,240
307 @120l & 33,056 11,549 21,507
== 2,363
Al 9,453
= 21,240
06 28= 33,056 11,549 21,507
O0el0ld HESH SR XA
11,816,000 11,816
s 2,363
Al 9,453
Oolelold MBS MO (XHAl)
21,240,000 21,240
= 21,240
ool 238l s X& 64,800 0 64,800
< 19,440
Al 45,360
307 lztol & 64,800 0 64,800
= 19,440
Al 45,360
10 Al SXAAEEHE 22X 64,800 0 64,800
O0ielold =gl S XN&
64,800,000 64,800
= 19,440
Al 45,360
oleloly 2EX& 33,000 26,000 7,000
= 19,800
= 9,240
Al 3,960
307 @120l & 33,000 26,000 7,000
= 19,800
= 9,240




2A: BKIEEX2 0
. BF 0ls F44E 82X o2t 25 (AMSsX/ES - IIELHS
o°He: BEF JIE &4 (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
Al 3,960
10 Al S XA EEHE2IHIE X 33,000 26,000 7,000
O =4l XA 33,000,000 33,000
= 19,800
& 9,240
Al 3,960
Helold YetEdlg A2 6,405 7,875 A1,470
T 1,281
Al 5,124
307 2I2+0l™ 6,405 7,875 A1,470
= 1,281
Al 5,124
1 ABIZ XA EE 6,405 7,875 A1,470
O0fRI01F stEHIZ X
105,000 x61H 6,405
& 1,281
Al 5,124
Helold 3& &4 X2 79,500 79,500 0
T 15,900
Al 63,600
307 2I2+01™ 79,500 79,500 0
T 15,900
Al 63,600
10 IS SXAIEHE2ZHIEX 79,500 79,500 0
ORZHO/ZI0IE Zelg o1l Ng
550,000& *5 2% 12F 33,000
& 6,600
Al 26,400
OOZI01E DHDAH X (F2XR0IR0l
&) 19,500,000& 19,500
T 3,900
Al 15,600
ONglold dHtedl K&
600, 0003 *45JH 2~ 27,000
& 5,400
Al 21,600
FRotEss N3 5,908,703 6,357,503 A448,800
= 4,431,527
& 1,034,023
Al 443,153
301 LPENS 5,908,703 6,357,503 A448,800
= 4,431,527
= 1,034,023
Al 443,153




SAM: NERIISXIJ
MM HE Ols HAaUd 21 2Tt E(AIEEX/ES - IISLHA)
e SEF JIE =4 (EEEE))

RA - BE - SHAEH) - HRA - BAS ofl &t e DS
01 A EEATZ(2DEZME) 5,908,703 6,357,503 A\448,800
ogortEszs X 5,908,703,000& 5,908,703
= 4,431,527
< 1,034,023
Al 443,153
Ot AW =X elZet AX(ARSX/ES - IIEL0 ) 18,969,056 20,623,203 A1,654,147
= 4,741,039
= 401,212
Jl 345,434
= 6,980,624
Al 6,282,949
= 217,798
Ols - a4 SXIAMHIAS DB &= 17,241,921 18,931,073 1,689,152
= 4,530,579
Jl 345,434
= 6,646,317
Al 5,694,550
= 25,041
HEAged=s T2 176,400 153,600 22,800
301 LELE NS 176,400 153,600 22,800
02 MBI 2HHSFHS(HAANS, XLHE) 176,400 163,600 22,800
ONEAS0S dsELS
176,400,000 176,400
OEE(eH 2E22)XY 74,425 75,000 AB75
= 14,885
Al 59,540
307 @120l & 30,000 37,500 A7,500
== 6,000
Al 24,000
10 Al SXAIEEHE2EHI2X 30,000 37,500 AT7,500
O=&e & et 252 K&
30,000,000& 30,000
= 6,000
Al 24,000
308 AHXIEMSOIH 44,425 37,500 6,925
= 8,885
Al 35,540
18 S| 2SS ZB XA AIE 44,425 37,500 6,925
ooty elAdl 2&5& X
44,425,000 44,425
< 8,885
Al 35,540
gats otssAa X 309,400 299,200 10,200
= 61,880
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2A:

WIS 0

HY: OlE AW =X et PE(MESN/ES - IEL0L)
Chel: Ots - E4d SXAHIAL JIgH &= EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,080
Al 16,320
301 EtE NS 102,000 100,800 1,200
= 81,600
== 4,080
Al 16,320
01 AR 2EHSHS(RNEXRTH) 102,000 100,800 1,200
OESER0ts Ne+g XH
500,000 x17E*12& 102,000
= 81,600
== 4,080
Al 16,320
Ors2EXI2AZ X 442,463 173,729 268,734
= 309,724
== 26,548
Al 106, 191
301 22N = 442,463 173,729 268,734
= 309,724
S 26,548
Al 106, 191
01 Al EE A S (FRNEXA) 442,463 173,729 268,734
Oo0ts&e XA 442,463,000 442,463
= 309,724
= 26,548
Al 106,191
Ors2E388e3 X 10,000 10,000 0
= 8,000
= 600
Al 1,400
201 fer23| 5,300 5,450 2150
= 4,240
== 318
Al 742
01 At2teltl 4,100 4,250 A150
Ou=H| 100,000 *23] 200
= 160
< 12
Al 28
OAMtelZ2ERA2 22+¢
420,000 52 2,100
= 1,680
< 126
Al 2%




2A:

WIS 0

Ho: O1F HAE =X T2t IE(MSST/2S - ISL0A)
&l Ot - Ead SXAMUIAL DBt &35 (EEEE))
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
OsE8s 7Y 1,800,000 1,800
= 1,440
== 108
Al 252
2 352484l 1,200 1,200 0
O3E& 2= 50,0002 »2CH* 122 1,200
= 960
= 72
Al 168
202 04l 1,200 500 700
= 960
S 72
Al 168
01 =LHO LI 1,200 500 700
O=LH04HI 200,000& *62 1,200
= 960
S 72
Al 168
301 22N = 3,500 4,050 AbB50
= 2,800
S 210
Al 490
01 Al E2E A S(FREXM) 3,500 4,050 2550
OzZad & delZ Al 1,500,000& 1,500
= 1,200
S 0
Al 210
OAMBIASH & JIEHXI R I
200,000 *10H 2,000
= 1,600
= 120
Al 280
Ols=¢ X (S XI=) 4,254,038 4,631,943 A377,905
= 3,403,232
= 255,241
Al 595,565
301 LEN= 4,254,038 4,631,943 A377,905
= 3,403,232
= 255,241
Al 595,565
01 Al EE A S (2 DEXR) 4,254,038 4,631,943 377,905
Oots+¢ =0 4,254,038,000& 4,254,038
= 3,403,232




A WIIIEXE 0
HY: OlE AW =X et PE(MESN/ES - IEL0L)
©elr Ols - AE SIAHIAS DI &5 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 255,241
Al 595,565
as otsaa NE 309,960 286,800 23,160
301 EtE N = 309,960 286,800 23,160
02 A2 A6 (FHAAS, NLWE) 309,960 286,800 23,160
OXNgotsHH S Otsa4dl A&
9,000& »140H 246 309,960
2PS0s 188 28 A 159,985 134,140 25,845
= 55,978
= 41,983
Al 41,983
= 20,041
308 XXM SOl 159,985 134,140 25,845
= 55,978
== 41,983
Al 41,983
= 20,041
183 S| 2SI &HAEAIE 159,985 134,140 25,845
oot 2y 2ZHI(XHAI) 20,041,000 20,041
= 20,041
OREsl0ls 188 =248l N&
139,944,000 139,944
= 55,978
= 41,983
Al 41,983
RES0ES NHEXS (A0S IHEXH) 2,350 2,050 300
= 1,645
== 141
Al 564
308 XXM SOIA 2,350 2,080 300
= 1,645
& 141
Al 564
18 S I2S0tHer 34 A AS A 2,350 2,050 300
OZAHHotEs THEX 2,350,000 2,350
= 1,645
== 141
Al 564
Fopl==¢ 8,690,000 9,841,000 A1,151,000
== 6,083,000
Al 2,607,000
301 EtE NS 8,690,000 9,841,000 A1,151,000
= 6,083,000




2A:

WIS 0

B OIS AW =X QIHet PE(ASSK/EST - HSL0HY)
&l Ot - Ead SXAMUIAL DBt &35 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 2,607,000
02 NBIEZESGS(HAAS, RLTHA) 8,690,000 9,841,000 21,151,000
Oo=soE2=g 8,690,000,000& 8,690,000
= 6,083,000
Al 2,607,000
AU 0ts 254l K& 12,000 0 12,000
= 8,400
= 720
Al 2,880
301 LEBNEF 12,000 0 12,000
= 8,400
& 720
Al 2,880
01 MBI EEAEGZ2(FREZTHA) 12,000 0 12,000
OYUATHAOISE Y XIe
1,000,000& *12& 12,000
= 8,400
& 720
A 2,880
QUFHII2 DRI 700 700 0
| 490
= 42
A 168
301 LetEEF 700 700 0
| 490
= 42
Al 168
I EEEEPS ETEREESTEY 700 700 0
OYg=I2 ST 700,0002 700
| 490
= 12
Al 168
LAOISHEX (LF+H) 26,400 28,800 A2,400
| 18,480
= 1,584
Al 6,336
301 LEH2E S 26,400 28,800 22,400
| 18,480
= 1,584
Al 6,336
01 A 2&ASH 2 (FREETR) 26,400 28,800 22,400
OYAOIE YSAEY X8
200,000& x11H~ 122 26,400
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ct 2=
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IT

Al el
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Hlw

95,166
860
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89,900
89,900

A30,000
A30,000
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Ofl &k2h
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700
1,600
1,000

3%,116

600
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25,600
491,282

Al

1,560
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1,000
1,400
800
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207,972
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2A:

PSR 1

mes
M Ol HAW =X 01Tol PHR(ABIZN/ES - IIEU0IA)
&l Ot - Ead SXAMUIAL DBt &35 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OFadt 25 7Y 19,800
oAUMEZ 2RI AT
19,800,000 19,800
EaE AEXE A 182,172 171,216 10,956
201 B2 AL 1,120 1,400 A280
01 At 22|l 1,120 1,400 A280
OBAESTIMIIAS BELY
70,0003 *8H »23| 1,120
308 AHXIHM SO & 176,052 167,816 8,236
13 I 2SO E & A AL I 176,052 167,816 8,236
OFAFAGAE XA 176,052
o At 8,000,000& 8,000
o 21| 151,292,000 151,292
o222l 16,760,000 16,760
401 A& BIZ20HbI 5,000 5,000
01 Al&Hl 5,000 5,000
OFLFAG=XME AL SA 5,000
08X == ¥ HIY EB+3At
4,000,000& 4,000
oStEA B ERE ZA
1,000,000& 1,000
Had SEXJ 5,000 5,485 A485
| 3,500
Al 1,500
301 LPBNZ 5,000 5,485 A485
| 3,500
Al 1,500
01 A BEAHZ(RREETR) 5,000 5,485 A485
OFaxd EEXNA 5,000,000& 5,000
| 3,500
Al 1,500
HAESEHG T2 2d 89,104 90,640 A1,536
| 44,552
Al 44,552
308 AHXIHM SO & 89,104 90,640 A1,536
| 44,552
Al 44,552
13 BII2SOICHEHE & XL EALH] 89,104 90,640 A1,536
OEAESUI T2 23
89,104,000 89,104
| 44,552
Al 44,552
AW = 03t00] 189,426 178,463 10,963
| 94,713




A WIIEX2 L
B OIS AW =X QIHet PE(ASSK/EST - HSL0HY)
&l Ot - Ead SXAMUIAL DBt &35 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 47,357
Al 47,356
308 AHXIHM SO & 189,426 178,463 10,963
| A, 713
= 47,357
Al 47,356
13 SI |2 SUICHEH B AR L EFALAH] 189,426 178,463 10,963
OBALYNSOBIE0 2
189,426,000& 189,426
| A, 713
& 47,357
Al 47,356
HAESNFO0IHHI0l 2E X 45,000 49,980 24,980
308 AHXIHM SO & 45,000 40,000 5,000
13 I 2SO E &R S AL 45,000 40,000 5,000
OHASLUSOBHIHI0N TR
45,000,000& 45,000
HAEHESEH X2 4,200 4,800 A600
201 L2 | 2,700 3,000 A300
01 A=R2teld| 2,700 3,000 A300
OgErzd| 900,000 900
OFLES MRE= 1,800,000& 1,800
202 Ot 1,500 1,800 A300
01 =WHO4bI 1,500 1,800 A300
OBAUST YRET 2UH0MH)
1,500,000& 1,500
HaEHorMG 102,000 105,622 A3,622
J| 51,000
Al 51,000
308 AXISHMSO0IA 102,000 105,622 A3,622
| 51,000
Al 51,000
13 SI |2 SUHICHEH B AR L EFALH] 102,000 105,622 A3,622
(OF=ESSIeirsicy 102,000,000& 102,000
| 51,000
Al 51,000
FarERofSHZZAIE XA 2,000 3,143 21,143
= 1,000
= 200
Al 800
307 2I2+01A 2,000 3,143 A1,143
= 1,000
= 200




A WIIEX2 L
T 015 FAE =X 0lDet IR(ABSK/ES - HISL0IA)
&l Ot - Ead SXAMUIAL DBt &35 (EEEE))
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Al 800
11 AL =SXAMEES 2,000 3,143 A1,143
OHALESHSBZAC X2
2,000,000 2,000
= 1,000
& 200
Al 800
HAEXIE AL BIXI XA 54,072 52,368 1,704
| 27,036
Al 27,036
307 QIZt01 A 25,944 25,200 744
| 12,972
Al 12,972
05 QIZtRES 25,944 25,200 744
OHAUERoOIE HAEXIS AL 1248 X
25,944,000 25,944
| 12,972
Al 12,972
308 AXISHMSOIA 28,128 27,168 960
| 14,064
Al 14,064
13 SI|2ASHICHEH B A X L EFALH] 28,128 27,168 960
O L2 HAEX T AL 2124H] X
28,128,000& 28,128
| 14,064
Al 14,064
st gt A8 O X 18,000 18,000 0
& 7,200
Al 10,800
301 LPENF 18,000 18,000 0
& 7,200
Al 10,800
02 ANSI2EHEZ(HUAHS, NSTHA) 18,000 0 18,000
Ostw % FA4 I XA
18,000,000 18,000
= 7,200
Al 10,800
st g ZadE XA 145,019 137,203 7,816
J| 98,013
Al 42,006
= 5,000
308 AHXIHM SO & 140,019 137,203 2,816
| 98,013
Al 42,006




2A:

E M

X=]

DEIIEXL D
OIS B4 =X et 15
D OKS - AU =XIAHIAS D]

(Ab
ufz
5t &

E
=
=
=)

AN/E2E - HELH

0x

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
18 SI[2S0tet 4 A AS A 140,019 137,203 2,816
Ostu & 44 A& 140,019,000 140,019

Jl 98,013
Al 42,006
405 AtatE = 5,000 0 5,000
= 5,000
01 It =S F = 5,000 0 5,000
Ot HHEAEAXAME IR P (XEH) 5,000
oJfHIX & HY 5,000,000& 5,000
= 5,000
&t 8t HAad X(S4H!) 12,500 10,000 2,500
Jl 6,250
Al 6,250
308 AXIMS0IA 12,500 10,000 2,500
) 6,250
Al 6,250
183 SIS U B XA AIE 12,500 10,000 2,500
Ostm o HAE XA (SAH)
12,500,000 12,500
Jl 6,250
Al 6,250
sls B35 0lss4a X2 375,345 369,600 5,745
301 EtE NS 375,345 369,600 5,745
Q2 Ae28H+AS(FUHS, NLWE) 875,345 0 375,345
oshlg Es%d Otz A&
9,0002 *430H x95 375,345
siitel =2 NaAS OtsSA AL JS 1,727,135 1,692,130 35,005
= 210,460
= 401,212
[ 334,307
Al 588,399
= 192,757
CIEH SSAIE 2AI2F 3& X2 23,640 21,274 2,366
[ 11,820
= 5,910
Al 5,910
307 el2to| & 23,640 21,274 2,366
[ 11,820
== 5,910
Al 5,910
10 Al SXAIEEHE2EHI 22X 23,640 21,274 2,366
OUEN SSAtY 2AIE 3F X3 (A
Hl) 1,470,000& 122 17,640




FAT WSS
M Ol HAW =X 01Tol PH(ABIZN/ES - IIEU0IA)
Ol SR =2 MAS OFE=X MHIA MZ (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,820
=S 4,410
Al 4,410
OUIEH SZAMY 2P HF X2 (2
Bl) 500,000 122 6,000
s 3,000
s 1,500
Al 1,500
CHEN SSAHE(23]) 69,815 24,000 45,815
= 12,000
=S 6,000
Al 6,000
= 45,815
307 el2to| & 69,815 24,000 45,815
= 12,000
< 6,000
Al 6,000
= 45,815
10 Al SXAEEE 22X 48,055 24,000 24,055
OUEN SSAE(23H)(dd= SSHH)
1,000,000& «12& 12,000
= 6,000
= 3,000
Al 3,000
OUEN SSAS (2SN (SEAICENS
SHH) 1,000,000& «12& 12,000
= 6,000
=S 3,000
Al 3,000
Ot SsdH 2gH(dd= S84H)(
INDSID) 13,744,000 13,744
= 13,744
OUEN S3diel 2EHI(SZAIDENSS
SES) (REX 10,311,000& 10,311
= 10,311
11 ARRIS XA E X 21,760 0 21,760
OUEN SSHIE AMHI(d8E SSHE)(
KA 10,980,000 10,980
= 10,980
Ot SSHE AHI(SZAILENSS
S ) (KHA) 10,780,000 10,780
= 10,780
CHEN SSAE(2SXIE) 242,240 177,384 64,856
[ 91,000
= 45,500




FA WIS
M Ol HAW =X 01Tol PH(ABIZN/ES - IIEU0IA)
ol BIXlE =2 MAS OLSEX MHIA A2 (12l M2
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
Al 45,500
= 60,240
307 212t01™ 242,240 177,384 64,856
= 91,000
== 45,500
Al 45,500
= 60,240
10 Al SAAEEHE 22X 242,240 177,384 64,856
OUET S2A SETR(Q121]) (M=
SS4H) 2,319,830 x2F 128 55,676
[ 27,838
= 13,919
Al 13,919
OUSH SSAIY 2K (2 AH])(ZEA
CHEN=SSHE 1,754,500 x6E « 12 126,324
[ 63,162
= 31,581
Al 31,581
OLUEH SsS4H lt(MYs SSHE)(
KEAI) 6,960,000 6,960
= 6,960
OUIEH S2HE QIAHI(ZEAIENSE
SIE]) (REA 53,280,000 53,280
= 53,280
CHERIHMSSHE (XIFSEHAI) 150,000 300,000 150,000
=S 30,000
Al 120,000
307 21201 & 150,000 300,000 150,000
< 30,000
Al 120,000
10 Al SXAEEHE2EHI2x 150,000 300,000 150,000
OtUsNEsHE NSSSA I
12,500,000& «12& 150,000
= 30,000
Al 120,000
CHAERE SEAtdi2el(ots SEMEIA XIE) 139,130 139,130 0
= 111,304
= 8,348
Al 19,478
201 er2&| 128,000 133,000 25,000
= 102,401
< 7,679
Al 17,920
01 At2teltl 97,860 102,860 /5,000




FAT WSS
M Ol HAW =X 01Tol PH(ABIZN/ES - IIEU0IA)
Ol SR =2 MAS OFE=X MHIA MZ (9] Mo
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEEEFEEEET]
1,000,000& 1,000
= 800
[ 60
Al 140
O=J1887] & d=)| dlig
130,000& * 12 1,560
= 1,248
< 93
Al 219
OSRAEIE AAX Y2t L S2H|
10,000,000 10,000
= 8,000
S 600
Al 1,400
OLEAEE 23 WSH|
1,000,000& 1,000
= 800
= 60
Al 140
OEEAERE SHOIXN RAIE=4]
350,000 23] 700
= 560
== 42
Al 8B
OSIAH| AlAE 2|
100,000& «12& 1,200
= 960
= 72
Al 168
O=gJl gz 200,000+ 12 2,400
= 1,920
= 144
Al 336
OAIRA 2 AIR22(H 10,000,000& 10,000
= 8,000
= 600
Al 1,400
OE+=XEEEZNH2Y
70,000,000 70,000
= 56,000
= 4,200
Al 9,800
02 S3=gHl 21,140 21,140 0
OsE2= & HA 15,740,000 16,740




A WIIIEXE 0
T 01 FAE =X olTe) IH(ASSX/2S - HEL0IA)
Ol SR =2 MAS OFE=X MHIA MZ (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 12,593
=S 944
Al 2,203
OMEIAIE HUHA M U AT
=3 1,400,000 1,400
= 1,120
s 84
Al 196
Oxtgrr =l 2,000,000 2,000
= 1,600
=S 120
Al 280
Oxr&=Al2ell 2,000,000 2,000
= 1,600
=S 120
Al 280
03 A2 b 9,000 9,000 0
OR2,0I% T2y 29
4,500,000 4,500
= 3,600
== 270
Al 630
OXISAr2l GA 2218 23
4,500,000 4,500
= 3,600
< 270
Al 630
202 04l 2,000 2,000 0
= 1,600
== 120
Al 280
01 =LHO LI 1,000 1,000 0
OAtell2te]l & Z28 M 0]
1,000,000& 1,000
= 800
== 60
Al 140
05 3R WSO 1,000 1,000 0
Ou=04t| 1,000,000& 1,000
= 800
== 60
Al 140
301 LEIE NS 9,130 4,130 5,000
= 7,303




A WIIIEXE 0
T 01 FAE =X olTe) IH(ASSX/2S - HEL0IA)
ol BIXlE =2 MAS OLSEX MHIA A2 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 549
Al 1,278
01 A2 HSHS(RNEERTH) 630 630 0
O8N T2 2 630,000 630
= 503
< 39
Al 88
11 dAMEEIXIZE S 8,500 3,500 5,000
OEZe HAEIHAF M
8,500,000& 8,500
= 6,800
< 510
Al 1,190
ors=Xsd 47,200 6.710 40,490
201 Ler23 | 4,200 3,710 490
01 At2teltl 4,200 3,710 490
O=ZAl SHARE 2R3 & XY=
SEAM sl 70,0003 x7H*23] 980
OOts3ARIEE 2o+
70,0002 x0H *23] 1,260
O0ts=X42 A3 2ol
70,0002 %10 700
OO0tsAJe 3o+ 70,0002 18 1,260
202 04| 1,000 1,000
01 2L AL 1,000 1,000
OO0ts=ASE U048l 1,000,000& 1,000
301 22N = 2,000 2,000
11 AALEEIXIRE S 2,000 2,000
OXIHOISHE L OFSZXIAIL SA X2
20,0002 *100H 2,000
308 AtXIEMSOIH 40,000 40,000
18 SIS0t HAS A 40,000 40,000
OO0lglold S&XI A 40,000,000 40,000
oSSl g2+ X3 24,870 37,841 A12,971
201 fer= 3| 23,520 31,540 /8,020
01 AlR22IH| 20,120 28,140 18,020
ORI & 201 IR} AIAE 2|
110,000« 12& 1,320
OSsgll gxt= 200,000 123 2,400
OAtRd 2&H| 1,400,000& 1,400
O0tssitiy ws & ZH el
15,000,000& 15,000
2 S22l 3,400 3,400 0
OZ33x2= € HMAl 150,000& «12& 1,800




A WIIIEXE 0
T 01 FAE =X olTe) IH(ASSX/2S - HEL0IA)
CHol: SRR =2 KAS OMS=X AHIA RIZ (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXte =Al2cltl 1,000,000 1,000
Ooxte s&bI 50,0002 128 600
202 04| 1,350 2,000 2650
01 2L AL 1,350 2,000 AB50
OOttt gFF8 =LH0H|
1,350,000& 1,350
XS EHARE 29 14,940 14,400 540
201 el 13,860 13,200 660
01 At2t2ltl 13,860 13,200 660
OEZAERE AIRA Xtz
1,155,000& x 12& 13,860
202 04dl 1,080 1,200 A120
01 2L AL 1,080 1,200 A120
OCEEHARE Z2082Y ¢dl
90,0002~ 122 1,080
ASE0tsHE 248l XA 117,156 96,384 20,772
s 48,192
S 24,096
Al 24,096
= 20,772
307 elzto| & 117,156 9%.384 20,772
= 48,192
[ 24,096
Al 24,096
= 20,772
10 AlRISXAZEHE 22X 104,052 96,384 7,668
OXdotsHlE 234 X2 (CHs)
1,338,660« 128 16,064
[ 8,032
= 4,016
Al 4,016
OXIS0otsHlE 224 X (MOHS)
1,338,660& «12& 16,064
s 8,032
= 4,016
Al 4,016
OXdotsHE 224 K& (ME)
1,338,660& «12& 16,064
[ 8,032
=S 4,016
Al 4,016
OXSotsHE 238 XN (HS8USEE
AZ) 1,338,660& «12& 16,064
s 8,032
== 4,016




SN DEISXHD
T 0I5 HAU =X 01DR PH(AFBX/ES - L)
D9l BUE =S NAS OIS=X AHIA KB (e a9)
~ _ q 4
SA - BY - SAE) - ALY - LS 0l &t e RS2
A 4,016
OXIOISHIE 2| N (SHLIR)
1,388,6002! 128 16,064
2 8.0
= 4,016
A 4,016
ONIOISHE 2| N2 (H=sBAS)
1,308,6002! 128 16,064
2 8.0
= 4,016
A 4,016
OXISOFSHIE 2| X8 (CHS) (XHA)
1,160, 0002! 1,160
= 1,160
OXIOISHE 2| X2 (MOHS) (X))
1,188,0002! 1,188
z 1,188
OXISOISHIE 2| X8 (M) (XHA)
1,200, 0002 1,200
x 1,200
ONISOISHE 2l X8 (0 =es
A2) (1) 1,320, 0002 1,320
& 1,320
OXI OIS HE 2| X2 (BHLER) (X))
1,400,002 1,400
% 1,400
OTISOISHE 2| X8 (Y=eBAS)(
XHH) 1,400,002 1,400
= 1,400
IRNEEIVEEES 13,104 13,104
OTISOFSHIE AeIHl X8 (CHS) (RHA)
2,340,002 2,340
= 2,340
OXIOISHIES ARHI X2 (MOHS)(XHH)
2,340,002 2,340
= 2,340
OXIZOFSMIE AfRIHl XIB (M) (RHA)
2,340,002 2,340
= 2,340
OXIZOISHIE AfRibl XIB (08 =S
A2) () 2,520,002 2,520
= 2,50
OXIOFSMEN Atibl XIB (SHLE) (RHA)
1,044, 0002! 1,044
= 1,044
OXISOISHIE ARIbl X8 (H=SEA2)
XHH) 2,520,002 2,50




FA WIS

M Ol HAW =X 01Tol PH(ABIZN/ES - IIEU0IA)

T BN =2 MAS OISE=X MHlA RIZ (69 =)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| x 2,520
AS0tSHE 1Adl XA 519,671 402,192 117,479

[ 238,200
= 119,100
Al 119,100
= 43,271
307 lztol & 519,671 402,192 117,479
= 238,200
== 119,100
Al 119,100
= 43,271
10 Al SXAEEHE 22X 519,671 402,192 117,479
OXlSotsHE lAH| X2 (CHs)
3,308,330 2H 122 79,400
[ 39,700
= 19,850
Al 19,850
OXISotsSHIE IAH] X2 (MOHE)
3,308,330 2H 122 79,400
[ 39,700
= 19,850
Al 19,850
OXIS0otsHlE 48] X (M)
3,308,330 =2H 122 79,400
= 39,700
= 19,850
Al 19,850
OXISotsHIE ldl XN (HSHHSES
Eat==)) 3,308,330 x2H 122 79,400
= 39,700
= 19,850
Al 19,850
OXIS0otsHlE 48] X1 (GHLR)
3,308,330 x2E 12 79,400
= 39,700
=S 19,850
Al 19,850
OXSotsHIE 24| X (HSEEAE)
3,308,330 x2E « 12 79,400
s 39,700
== 19,850
Al 19,850
OXISotsHlE 1244l XI& (ChS)(XHA)
6,733,000& 6,733
= 6,733




A WIIEX2 L
T 01 FAE =X olTe) IH(ASSX/2S - HEL0IA)
ol BIXlE =2 MAS OLSEX MHIA A2 (69 =)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OXIZOFSHIES 01216] X2 (MOFS) (XA
7,599,000& 7,599
= 7,59
OXIOISHIE QI218] XI# (M) (X))
7,631,000& 7,631
= 7,631
OX<0otsHEH 2lAbl XN(SHH=EE
A2)(XEA) 7,163,000& 7,163
= 7,163
OXIHOLSHIES Q1248] X2 (BHLIZ) (X))
7,250,000& 7,250
= 7,250
ONAOISHE QI12E] XIR(H=EEAZ)(
KHAl) 6,895,000& 6,895
= 6,89
NSG0otsHEH SAHAL 2124d| XI# 101,320 93,350 7,970
T 20,264
Al 81,056
307 QIZ2t01 A 101,320 93,350 7,970
= 20,264
Al 81,056
10 Al SXAIEHE2ZHIEX 101,320 93,350 7,970
OXOISHEl BAK Q1218] KIR(CH)
8,460,000& x2H 16,920
& 3,384
Al 13,536
OX IS O0tSHE SALR 21248 XA (MOHS)
8,440,000& x2H 16,880
= 3,376
Al 13,504
OXIS0LSHE SALA 21248] X3 (MSB)
8,440,000& x2H 16,880
& 3,376
Al 13,504
OXS0tSHE SALR 2124 XA (0 S
HESIEAR) 8,440,000& x2H 16,880
= 3,376
Al 13,504
OXIS0ISHE SAEA 21248] XI&A(BHLEZ)
8,440,000 x2H 16,880
& 3,376
Al 13,504
OXS0tSHE SAKR 21| X3 (H=st
EAZ) 8,440,000& x2H 16,880
= 3,376
Al 13,504




M W
HzM: 0O}
&t

=aak

[
He
2
0x

Had =X QlEet RFH(MEIEX/EK - Ot
=2 MAS 0SS MblA ME EEED

SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
XE0tsHlE For2gel 2EXZX& 3,600 3,600 0
& 720
Al 2,880
307 212+01™ 3,600 3,600 0
& 720
Al 2,880
10 Al S XA EEHE2IHIE X 3,600 3,600 0
OXIE0otsHH F=)ted9dl X2 (Us)
50,0002 12& 600
T 120
Al 480
S ENERIEIESIEE ST
50,0002 x12& 600
& 120
Al 480
OXIE0otsHH =129l X2 (MS)
50,0002 12& 600
T 120
Al 480
OXIHOISHE Ity XId (02 s=
SIEAR) 50,0002 x12& 600
& 120
Al 480
OXIGOISHIE Sty X2 (5H=)
50,0002 12& 600
T 120
Al 480
OXY0ISHH =298l X (H=ssEA
2) 50,0002 x12& 600
& 120
Al 480
SiIlohots 25 & XN& 3,000 4,000 A1,000
301 LB F 2,000 3,000 A1,000
02 MBI 2EHH S (HUHS, NSTHA) 2,000 3,000 21,000
Osthibloiols Ml 29
200,000 =10 2,000
307 212+01 A 1,000 1,000
01 22 2 3=H| 1,000 1,000
Ostiiulaiols XIg ¥ &CH|
100,000& 10X 1,000
Siuloiots&EH 29 X&A 270,553 237,182 33,371
= 909,156
& 74,369
Al 74,369
= 22,659




A WIIIEXE 0
¥ Ot 44 S 2Tt PR(MASA/ES - IHFLNE)
oSl BIRIE =2 MAS OIS=X AHIA RIS (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 270,553 237,182 33,371
= 99,156
== 74,369
Al 74,369
= 22,659
10 Al SXAAEEHE 22X 238,906 205,535 33,371
OstiulhotsaH =4bl
216,247,000 216,247
= 86,498
= 64,875
Al 64,874
OostiulsiotsgEd 2% X (X))
11,329,500 »23] 22,659
= 22,659
1 AMEISXAIEEXS 31,647 31,647 0
OStHUIGHOtS&EH Al
31,647,000 31,647
= 12,658
= 9,494
Al 9,4%
HYRHGH(WSIEEXIA D) (OIEHIIE) 416,99 434,808 A17,813
= 133,299
[ 55,606
= 37,800
Al 71,471
= 118,819
=34 20,340 21,920 1,580
Jl=2&H] 20,340 21,920 21,580
201 er23 | 12,600 14,000 A1,400
01 At2teltl 12,600 14,000 1,400
FAN2E AIR2t2/ 12,600,000 12,600
202 04t 2,700 3,000 2300
01 =LHOHI 2,700 3,000 A300
SEAEE UL 2,700,000& 2,700
203 =4l 5,040 4,920 120
M FA2SHIFII 5,040 4,920 120
A2 4| 420,000« 122 5,040
el 2| 396,655 412,888 16,233
= 133,299
[ 55,606
= 37,800
Al 51,131

1

118,819




2A: BKIEEX2 0
M HY2IAU(WEIEEXIAD) (OIEHDIE
cHol: ol oy| CERE)
H - B8 S9l(30) - NRAY - BAS ol b e HlmS2
EAEIE S A2l (e124Y]) 143,244 97,800 45,444
= 79,891
= 5,992
Al 13,981
= 43,380
101 @l H| 129,285 85,508 43,777
= 68,724
& 5,154
Al 12,027
= 43,380
03 SRA(RINHL) 222+ 129,285 85,508 43,777
oJles 1,980, 1563 +*3F 123 71,286
= 57,029
= 4,277
Al 9,980
OAXRBEIN+Y
121,000&*3H 12 4,3%
= 3,485
& 261
Al 610
oyz+e 870,438& *3F +23| 5,223
= 4,178
= 313
Al 732
OFHZA| 140,000 *3% * 128 5,040
= 4,032
= 303
Al 705
OJIE =2 (XHA) 40,0003 +3F 123 1,440
= 1,440
OnsSEZHI(KHA) 60,0002 3« 12& 2,160
= 2,160
OYEEIIHI(KHA)
1,410,000 *3Z *23] 8,460
= 8,460
OANZIIZ2R24ZH(AHA)
270,000&*x3H+ 123 9,720
= 9,720
OXAZ A =S (XHA)
120,000 x3% * 123 4,320
= 4,320
O ctaAd| (XHAl) 576,000 *3H x 103 17,280
= 17,280
N HASREZS 13,959 12,292 1,667




2A:

DEIIE
A HZYRAIH(WSIEEXF L) (OIEH/IIEH
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 11,167
=S 838
Al 1,994
M SRA(RIAHSL) 22N BEE2RE=s S 13,959 12,292 1,667
OgH=2Egss 387,750 x3E 128 13,959
= 1,167
= 838
Al 1,954
OlsSESdERd XA (212H]) 94,793 65,200 29,593
= 53,408
= 4,005
Al 9,347
= 28,033
101 @124H| 85,3%6 65,200 20,196
= 53,408
== 4,005
Al 9,347
= 18,636
03 SRA(RIH )22 E S 85,396 65,200 20,196
OJlzs 2,072,375 x2E 1238 49,737
= 39,787
= 2,985
Al 6,965
OIE+e 40,0003 <2~ 122 960
= 769
= 58
Al 133
OuSE2HI 60,0002 x2& 122 1,440
= 1,182
= 87
Al 201
Og &=l 1,406,0002 x2E 22| 5,624
= 4,500
= 337
Al 787
OAIZRIZR+E 45,9832 *5A| 2+ 123] 2,759
= 2,208
S 165
Al 386
oXgdd=+g 120,0008 2+ 122 2,880
= 2,304
< 7
Al 405




EA: DISXS
Mz N SAAH(WSIEE X2 (DIEHIIE
&2l I 2| (St &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
OFHZAH| 140,000 2« 128 3,360
= 2,688
< 202
Al 470
OHXR2EI=LY (XA
1,841,000& *x23] 3,682
= 3,682
OF24=Z(XHA) 898, 150 x2H x23| 3,593
= 3,593
OMEctAd| (XHAI) 568,020 x2H*102] 11,361
= 11,361
M4 A= EE2S 9,397 0 9,397
= 9,397
M Z2RE(RIH 22X BEE2REH=S S 9,397 0 9,397
O=RUABBH2(TH)
83,515,610& *4. 5% 3,759
= 3,759
O=201AHAUZ S (XHAI)
83,515,610& *3.545% 2,961
= 2,961
OFIIQYBE (XHH)
2,960,630&%12.81% 380
= 380
QLA HEE (KHAM)
83,515,610&*2.75% 2,297
= 2,297
Ol==2XIWAF OIHA XIS (2144]) 158,618 137,288 21,330
g 55,606
c 27,803
Al 27,803
= 47,406
101 2124d| 140,406 117,584 22,822
rag 46,500
= 23,250
Al 23,250
= 47,406
03 22 (2I|H)2EXNE 4 140,406 117,584 22,822
oJlE2 1,291,660 6 » 12& 93,000
g 46,500
& 23,250
Al 23,250
OIFELSH( XA 40,0003 x6H * 12& 2,880
= 2,880
OWESZEHI(XHAI) 37,5003 x6H x 122 2,700




2H DRIIE
I HHSAAH(DIISXAD) (OIEHIIED)
ool oo

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,700
OZEEZIHI(XEA) 775,0002 6 H*23] 9,300
= 9,300
O &A= (XtH)
56,2502 x6E 122 4,050
= 4,050
OStRE& It (XHA)
64,0002 +x6& *153] 5,760
= 5,760
OFHZAH|(XHA) 87,5003 x6E *123] 6,300
= 6,300
OZ2< (XA 398,000 x6 2 +23] 4,776
= 4,776
OM & et (RHAI) 194,000& x62 %102 11,640
= 11,640
M HASFESS 18,212 19,704 A1,492
[ 9,106
= 4,553
Al 4,553
04 SR (RIH)22N BEE=RES S 18,212 19,704 A1,492
Ov=Rgs & 252,940 6H 122 18,212
[ 9,106
= 4,553
Al 4,553
WLES(WSIEEXIAN) (ARISI/FHAHSIIH) 100,000 130,000 30,000
WA XI=E 100,000 130,000 /30,000
OHEEEDI= 2t 100,000 130,000 /30,000
@R IIsdES 100,000 130,000 230,000
UIPIETSE- 100,000 130,000 30,000
ougdsls d&=s 70,000,000 70,000
Ooferdsl2 dEs(ASLEAAGYI)
30,000,000 30,000




